Using your way of expressing 3-SAT using only 4 relations:

1. I got the relation numbers using the following method:


public void test3sat(){


int m21 = Relation.getMagicNumber(2,1);


int m11 = Relation.getMagicNumber(1,1);


int m01 = Relation.getMagicNumber(0,1);


int m20 = Relation.getMagicNumber(2,0);


int m10 = Relation.getMagicNumber(1,0);


int m00 = Relation.getMagicNumber(0,0);


int _0neg = m21|m11|m01;


int _1neg = m20|m11|m01;


int _2neg = m20|m10|m01;


int _3neg = m20|m10|m00;


System.out.println("0Neg "+ _0neg);


System.out.println("1Neg "+ _1neg);


System.out.println("2Neg "+ _2neg);


System.out.println("3Neg "+ _3neg);

}

2. I got their numbers: 
0Neg 254 
1Neg 239 
2Neg 191 
3Neg 127
3. I got the set of 10 possible relation numbers after reducing these relations to one of their variables:
63
95
119
175
187
207
238
250
252
255

4. I plotted the polynomials (using the same conventions as before ( )
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